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Sl. No.1
QBID:1554931

Choose the correct form of verb to fill in the blank.

Will the union leader ?

(A) arrested
(B) be arrested
(C) was arrested

(D) were arrested
Answer Given by Candidate : B

Sl. No.2
QBID:1554932

Choose the appropriate preposition to complete the sentence :

The young child carried the heavy bucket the stairs.
(A) by

(B) from
(€) above
(D) besides

Answer Given by Candidate : B

Sl. No.3
QBID:1554933

Pick out the correctly spelt word.
(A) accommodation

(B) aconunodation

(€) accomodation

(D) acmodation
Answer Given by Candidate : C

Sl. No.4
QBID:1554934

Identify the correct form of indirect speech of the followmg sentence.

Arpit says, "She is an mtelligent girl".
(A) Arpit says that she is an mtelligent girl.




(B) Arpit said that she is an mtelligent girl.
(c) Arpit said that she was an mtelligent girl.
(D) Arpit asked him if she is an intelligent gul.

Answer Given by Candidate : C

Sl. No.5
QBID:1554935

Rearrange the following parts of a sentence labeled as PQRS to make a
meaningful sentence

P Your hope for
Q if money 1s
R never have it

S independence you will
(a) QPSE
(B8) RS5PQ
(c) PQRS
(o) RPSQ

Answer Given by Candidate : A

Sl. No.6
QBID:1554936

Pick out the antonym of "spoil'.
(a) dignity

(B) embellish

(c) abolish

(D) abandon
Answer Given by Candidate : A

Sl. No.7
QBID:1554937

Pick out the meaning of underlined idiom m the following sentence.

The judge called for an explanation of his misconduct.

(A) demanded
(B) desired

(¢) discussed
(D) repeated

Answer Given by Candidate : A

Sl. No.8
QBID:1554938




Choose the correct passive voice form of the following sentence :

You can take it away.

(A) It can be taken away.
(8) You have taken it away.
(c) It can't be taken away

(p) You have the choice to take it away.

Answer Given by Candidate : A

Sl. No.9
QBID:1554939

Pick out the synonym of the following word.

Langwd
(a) lazy
(B) smart
(C) genius

(p) mtelligent

Answer Given by Candidate : A

Sl. No.10
QBID:15549310

Choose the correct sentence.

(A) They never go on holiday, do they ?

(8) They never go on holiday, don't they ?
(c) They never go on holiday, haven't they ?
(p) They never go on holiday, did they ?

Answer Given by Candidate : A

Sl. No.11
QBID:15549311

What is a Green Chip company ?
(A) That focuses on eco-friendliness.

(8) That focuses on forest products.
(c¢) That has no loan pending.
(p) That has not launched IPO yet.

Answer Given by Candidate : C

Sl. No.12
QBID:15549312

When Waquar Younis, the Pakistani fast bowler made his debut in Test Cricket
at Karachi, there was a batsman from the visiting side. who also made his debut.
Who was he 7

(A) Rahul Drawid




(B) Saurabh Ganguli

(¢) VVS Laxman

(D) Sachm Tendulkar
Answer Given by Candidate : D

Sl. No.13
QBID:15549313

Match List I wath List IT

kel List I
Takeup colors used in
= Igathakali A
A. Green T Evil characters
B. Red II.  Noble and Sages
C. Black III. Divine Beings
D. White Beard IV. Forest dewellers / hunter

Choose the correct answer from the options given below :
(A) A-II B-I, C-IV, D-III
(8) A-IV. B-III, C-II. D-I
(c) A-L B-II, C-III. D-IV
(p) A-IIL B-IV, C-I, D-II

Answer Given by Candidate : A

Sl. No.14
QBID:15549314

Je suis Charlie (I am Charlie) was a slogan spread around after terrorist attacked
on:

(A) Charlie Charlie - Children's magazine
(B) Charlie - the footballer

(€) Charlie - the Restaurant

(D) Charlie Hebdo

Answer Given by Candidate : D

Sl. No.15
QBID:15549315

Who opened the National Library in Kolkata in 1953 ?
(A) Jawaharlal Nehru

(B) Sardar Patel

(¢) Maulana Abul Kalam Azad

(o) Dr. B. C. Roy

Answer Given by Candidate : A

Sl. No.16




QBID:15549316
Find the missing alphabet

BDGK., EGIN, MORV.L
(A) LNPS
) LNQVWV
(c LMQVWV
(o) LNQU

Answer Given by Candidate : D

Sl. No.17
QBID:15549317

D. E. F. G, H. I are six persons sitting around hexagonal table. each at one
corner and facing the center of the table. D is second to the left of I. E 1s the
neighbour of F and G. H is second to the left of G. Find who are the neighbours

of H.

(A) Dand G
(8) DandlI
(¢) Dand E
() ITand G

Answer Given by Candidate : D

Sl. No.18
QBID:15549318

Of the 100 students in a class. anyone who chooses to study English also studies
computer science. However, no student choose to study English and Physics. 16
students do Physics and computer Science. All the students do at least one of the
three subjects. No. of students who study only one subject is more than students
who study more than one subject. What are the maximum number of students
who could have studied Physics only?

(A) 16
(B) 44
(c) &4
(D) 68

Answer Given by Candidate : A

Sl. No.19
QBID:15549319

The followmg question has an underlined word. Choose the word from the given
choices that is essential part of the underlined word.

Electric Mixer

(n) Jug

(B) Motor
(C) Stand
(D) Switch




Answer Given by Candidate : B

Sl. No.20
QBID:15549320

Select a suitable figure from the Answer figures that would replace the question
mark (7)

Question Figure Answer Figure

* Ny e -

IR Y I

(A) (B) (C) (D) (1) (2} (3) (4)
(A) 1
(B) 2
(© 3
(o) 4
Answer Given by Candidate : C
Sl. No.21

QBID:15549321
In how many ways can 7 different balls be distributed in 5 different boxes. If any
box can contain any number of balls except that ball 3 can only be put into box 3
or box 4 7

(A) 2 x6°
(B) 6&°
(€) 2 x50

(p) 59

Answer Given by Candidate : A

Sl. No.22
QBID:15549322

Given that 10948 =x, 10970 = y and %% = y2, then the value of z is close to :

(A) 3.7
(B) 2.9
(c) 1.88
(D) 1.45

Answer Given by Candidate : C

Sl. No.23
QBID:15549323

In how many ways can 9 different colour balls be arranged in a row so that
black. white, red and green balls are never together ?

(A) 146200
(8) 219600
(c) 314562

(D) 345600
Answer Given by Candidate : A




Sl. No.24
QBID:15549324

A tap can fill a tank in 6 hours. After half the tank is filled, three more similar
taps are opened. What is the total tune taken to fill the tank completely ?

(A) 3 hrs 15 min
(8) 4 hrs 15 mmm
(¢) 3 hrs 45 min
(D) 4 hrs

Answer Given by Candidate : A

Sl. No.25
QBID:15549325

A person takes 20 minutes more to cover a certain distance by decreasing his
speed by 20%. What is the tune taken to cover the distance at his original speed
.

(A) 1hr
8) 1 hr 20 min
(¢) 1 hr 10 min

(D) 50 mun
Answer Given by Candidate : A

Sl. No.26
QBID:1424751

Bandwagon effect makes demand more

(A) inelastic
(B) elastic
(C) remains same

(D) unitary elastic
CRGUE R ] (Bandwagan effect) i Bl YD ERIGI %

(A) AEETA
(8) d=Eid
(c) HHIH

(D) THIS A

Answer Given by Candidate : B

Sl. No.27
QBID:1424752

With reference to the Bertrand model, which of the following is correct?
(A) The duopolists recognize their mterdependence

(8) It explams price ngidity

(c) Each duopolist assumes that the other keeps its price constant

(p) Each duopolist assumes that the other keeps its quality constant




92TS (Bertrand) A0 & 92 #, 9 # 9 #14-91 981 &2

(A) TE-oTTl e omoeft Ffean @ &1

(B) T $I9d £adl F1 904 HXal ¢

(©) Td® G-HUFRI 91 & 6 g o &g R &)

(D) ¥F fg-efi@il Al 8 & oy ol A (quantity) FRUR 7@

Answer Given by Candidate : B

Sl. No.28
QBID:1424753

If the demand for agricultural products is inelastic, then
(A) As the prices decrease, the revenues earned by producers increase
(B) As the prices decrease, the revenues earned by producers decrease

The percentage decrease in prices 1s lower than the percentage increase m

© demand

(p) Rising prices do not lead to differentiation in producers income
gfg FY Iere! $1 A 3= & -

(A) FIAd 9g9 W, STIEH! g Hfald 3T Fgdi o

(B) FIHd R4 W, Sdes! gRI Sfefd g ged! 3

(C) HHG! | UiId SHI, | H Wiced HH1 | &4 grl|

(D) Hedll BHd IUEH! B 3G H A T8 &3l 8l

Answer Given by Candidate : B

Sl. No.29
QBID:1424754

A fall in the price of a commodity whose demand curve is a rectangular
hyperbola causes total expenditures on the commodity to

(A) Increase

(B) Decrease

(c) Remain unchanged

(D) Increase with constant rate

Us o5 o Al O EdeR Aduaed (rectangular hyperbola) #1 #Hd # 814 W
(A) Fem

(B) T

(c) RRTm

(p) RBRExTFEm

Answer Given by Candidate : B

Sl. No.30
QBID:1424755




The Engel curve for a Giffen good is
(A) Negatively sloped

(8) Positively sloped

(c) Vertical

(D) Horizontal

R1ith = o &1 Toid O BTI-

(A) TERIAS

(B) TERIEHS BT

(c) TFEad

(D) &ftw

Answer Given by Candidate : B

Sl. No.31
QBID:1424756

In the case of price leadership by the dominant firm, all the firms in the purely
oligopolistic mdustry will produce their best level of output

(A) Always

(B) Never

(€) Sometimes

(D) In short run

THTH BH g, SIAd gd @ Ufd ¥, 3G eaTien) g § 91 BF 396 gded &
FaRTH WY BT Mg B |

(A) THEN

(B) &I Tal
(c) HFH

(D) FaETa H
Answer Given by Candidate : D

Sl. No.32
QBID:1424757

The Golden Rule rate of savings refers to

(a) that level of savings which is the maximum possible achievable in an economy
(8) that level of savings rate where the consumption is maximised at the steady state
(c) that level of savings rate where the consumption is minimised at the steady state
(p) any level of savings rate

90 B Tiesd (07 X 59 9 9eiia § 7

(A) &l off srfomew & Sw=an wmifda mit aren s9q &1 wR)

(B) 90 &X &1 95 WK o6l YR HERT TR ITHA HTFaH 7 |

(C) &Ud &Y H1 95 WR ol (R awT | SUUF gAaH & |




(D) ==d =X &1 &1 1l =W

Answer Given by Candidate : D

Sl. No.33
QBID:1424758

The best or optimum level of output for a perfectly competitive firm is given by
the pomnt where

(A) MR equals MC

(8) MR equals AC

(c) MR exceeds MC by the greater amount

(p) MR equals MC and MC is rising

us Wieanht BH &1 watay / SPan SdreH famg #el 5 ?
(A) MR &R § MC

(B) MR TR § AC

(€) MR. MC ¥ 5gd Wie1 &

(D) MR SR & MC @41 MC 53 361 &

Answer Given by Candidate : A

Sl. No.34
QBID:1424759

Aggregate demand is -

Negatively related to the price level because a decline in the price level has a

) negative effect on the demand for output.

Negatively related to the price level because a decline in the price level has a

(B) positive effect on the demand for output.

Positively related to the price level because a decline in the price level has a

© negative effect on the demand for output.

Positively related to the price level because a decline in the price level has a

(®) positive effect on the demand for output.

THT AT &-

A FIHT TR ¥ TEREE =9 § TG ¢, Wil SHTER # $H 1 39 & Al W ASRIHE
(A) TG BT 2

FIAT TR ¥ TEREF ¥4 4 TG ¢ i AT TR H SH 54 &1 391 S A 01
TENIHS UHE 5iaT o

FIHd TR H GFRIEF o0 § TEg © Hife FHd X H $4 54 F1 39S $1 A W
THRIHS YHE Bl ¢

(B)

(©)

BT TR I TERIES 39 4 TS © adiie HAd WX # B4 &1 IdIE S 37 X IERIAS
4T 2

Answer Given by Candidate : B

(D)

Sl. No.35
QBID:14247510




The demand for money is -

(A) Positively related to output and the rate of interest.

(8) Inversely related to output and the rate of interest.

(¢) Inversely related to output and Positively related to the rate of interest.
(p) Positively related to output and inversely related to the rate of mterest.
Hel &I #iF-

(A) TEEA T o6 B &Y H HRIES J6Y &l

(B) TS T SIS I &X # THRIH® T9Y ¢l

(C) TAREA ¥ ToNEF § o &1 &Y 4 GFNES 989 ¢

(D) TUREH ¥ IHNIES d o0l & &Y ¥ TeNES 989 ¢

Answer Given by Candidate : D

Sl. No.36
QBID:14247511

The user cost of capital is :

(A) The real rate of mterest
(B) The nomimal rate of interest

(¢) The real rate of interest plus the rate of depreciation

(p) The nominal rate of interest plus the rate of depreciation
ol &1 JUEN TG (user cost) &-

(A) O i Ardide X

(B) oTd &1 &gd &l BH &

(C) OIS i &g &Y + Hrdeld &1 &

(D) U & 7&e &Y + Hedgd &1 &X

Answer Given by Candidate : A

Sl. No.37
QBID:14247512

When o = 3/4 and p = 1/4 for the Cobb Douglas production function, returns to
scale are

(A) Constant

(B) Increasing

(c¢) Decreasing

(p) First mereasing and then decreasing

e o = 3/4 a1 B = 1/4, G99 FId S99 S@IGA BoA 1, THH & Uiwa gi-
(A) THH

(B) e

(©) wed




(D) W™ # "gd e ged

Answer Given by Candidate : D

Sl. No.38
QBID:14247513

The natural rate of unemployment equals the sum of :
(A) Frictionally and structurally unemployed

(8) Frictionally and cyclically unemployed

(c) Structurally and cyclically unemployed

(p) Frictionally, structurally and cyclically unemployed
ST &1 WiFa® o 69 & 9 & a9a o7

(A) TG SR S SR

(B) =dUEi-E SR F@i SRIETR]

(©) HEEE R BT S

(D) TG, SRETES AR THG IR

Answer Given by Candidate : D

Sl. No.39
QBID:14247514

Which of the following statements is correct?

A variable is endogenous when its value is determined by the forces outside the

) model.

(8) A change in an exogenous variable is classified as an autonomous change.

A variable 18 exogenous when its value 18 determined by the forces within the

© model.

A variable is autonomous when its value 1s determmed by the forces within the
model.

FafiiEa & 9 SH-91 $YA 98 &-
(A) U T 3ud &, diG 5961 Jed Hisd & agd gl 9 g gl o

(B) gﬁﬁﬁﬁ =R ¥ glgd &1 W@ad UNaad (autonomous change) % w9 # Fiigd a1 wral
[

(C) U =X afgeld &7 Wd 5H&T grd Aied & e gaf 4 i grm
(D) UF T WO & 0d SUE1 ged AIST & e at o (Ui g 2

Answer Given by Candidate : B

(D)

Sl. No.40
QBID:14247515

According to the Phillips curve, unemployment will return to the natural rate when

(A) Normal wages are equal to expected wages.

(8) Real wages are back at long-run equilibrium level.




(€©) Nominal wages are growing faster than inflation.

(p) Inflation is higher than the growth of nominal wages.

fohfere ah & TR, SRIVHIRI, UThfdd ORI IR dd U ofe-
(A) T Tolgl. UATRId Hoigel o sRIeR gl |

(8) TGP HOIGR! AIHDIA Hqa- R U= aledt (back) T

(© AfE® Aogd, garmifd I 99 gedl o

(D) HERWITd, Hlfge Hoigd! B gig 4 4P gidl 5|

Answer Given by Candidate : A

Sl. No.41
QBID:14247516

The coefficient of Non-determination is equal to -

Explained Variance
Total Variance

(A)

Unexplained Variance

Total Variance

. Explained Variance

©)

Total Varance

Unexplained Variance

1+
(D) Total Variance

sfyema qois e & auee 22

T T
A)

el HH T

(

Answer Given by Candidate : D

Sl. No.42
QBID:14247517

If the two lines of regression are perpendicular to each other then the value of
coefficient of correlation is -

(A) O
(8) +1
(c) -1




(p) 2
g Sl FiaTe YT U GO & awad § of e qUie &1 A9 41 G
(A 0
(B) *1
(c) -1

(D) 2
Answer Given by Candidate : A

Sl. No.43
QBID:14247518

The number of terms in the expansion of the binomial distribution (a + b)* is -
(a) 4

(8) 5

(©) 6

(D) 3

fgug §e7 (a + b)* ¥ R & vet 31 S=m @ Bri

(A) 4
(B) 5
(c) 6
(D) 3

Answer Given by Candidate : A

Sl. No.44
QBID:14247519

What is the integral of cosec? x with respect to x?
(A) tanx +C

(B) secx +C

(€¢) —tanx +C

(D) —cotx +C

x & TUY cosec’ x 1 GHIHT 1 5FI?

(A) tanx +C

(B) secx +C

(¢) —tanx +C

(p) —cotx+C
Answer Given by Candidate : C

Sl. No.45
QBID:14247520

For the set 4 = {3. 4}. find Power Set P(4)
() {{3}. {43}

8) {{3}. {4}. {3.4}}

<)




{¢ .3} (4}
@) Lo .13} {4). 3.4}}
=T 4 = {3. 4} & fow wfEd (Power) ¥4=0 P(4) T1d Y-
() {{3}. {4}}
) {{3}. {4}. {3.4}}
© ¢ 133 {4}
o) {o -3} {4}. 3.4}

Answer Given by Candidate : D

Sl. No.46
QBID:14247521

If the international terms of trade settle at a level that is between each country's
opportunity cost, then

(A) There is no basis for gainful trade for either country
(8) Both countries gain from trade
(c) Only one country gains from trade

(p) One country gains and the other country looses from trade

gfe 3RIPIY oTUR 1 el &1 SR 1 3G¥R AT H s 79 Bl © .
(a) THEI ST & o0 ATHER IR B Bl YR 7ol o

(8) I X1 &I IR I A1H il ¢

(©) Fad P SN HI IR I Bl gl g

(D) TP SR 1 HUR H A1 Bl & SR F8 &= I IR Y B Bl 6

Answer Given by Candidate : B

Sl. No.47
QBID:14247522

Haberler's theory of opportunity cost is represented by
(A) Indifference curves

(8) Isoquants

(€) Reaction curves

(p) Production possibility curve

T U BI GRR $ TR AT gl 1 HefRid Sl 82
(A) TE=@ITH

(B) HHIHIG

(c) widfbar o

(D) SIEH TR TF




Answer Given by Candidate : A

Sl. No.48
QBID:14247523

An exchange rate which also takes mto account the relative prices of products in
the countries being compared is known as -

(A) Appreciation in exchange rate
(8) Nominal exchange rate

(c) Real exchange rate

(p) Depreciation in exchange rate

o fbu o T ot F fafma ox 9 agel @1 guies Sl ©f WH | W@l § o9 ol
FEd &7

(A) AT R Hahg
(B) HiTa=T fafag o
(c) drig® faiag ax
(p) GO Erd g

Answer Given by Candidate : B

Sl. No.49
QBID:14247524

Which of the following is consistent with the idea of expansionary fiscal policy?
(A) The fact that government increases expenditure during recession.
(8) The fact that the tax of unleaded petrol is lower than that on leaded petrol.

The fact that as people's mcome merease the amount that they pay m taxes also

< .
HCTeases.

(p) The fact that congestion charges reduce traffic in the city centres.
m # 9 aH-w fGded= ey it & R ¥ 9raw w@ars ?

(A) HEl F TR TER 0 St o

(B) TE aId Ui &I gerl ¥ a1 A a1d Ui R ) & H §ial &

(C) T &1 38 924 ¥ 39+ g1 &2 e O 3gad 2

(D) TRIG &%l & 9 &7 90 Yo | ¢ihd HH ol &l

Answer Given by Candidate : C

Sl. No.50
QBID:14247525

-] A

1
Find the minor of element 8 in the determinant A =|2
8

(A) 6
(B) —0O
(c 12




1 4 6

ARMOTE A=[2 5 o| H U< 8 BT T TR J1d DRI
B 7 12

(A) 6

(B) —6

(c) 12

(p) —12

Answer Given by Candidate : A

Sl. No.51

QBID:14247526

For the total cost function € = 1000 + 120x + 14x% + x3, find marginal cost
function.

(A) 1000 +x + 14x2 + 3x

(B) 120 + 28x + 3x2

(C) 28y + 32

(D) 120x2 + 143 +x*

F0 A Bed C = 1000 + 120x + 1422 + x° & fow Sivra a1 e 11d $4
(A) 1000 +x + 14x2 + 3x

(B) 120 + 28x + 3x2

(C) 28y + 32

(D) 120x2 + 1433 + x4
Answer Given by Candidate : B

Sl. No.52
QBID:14247527

If the value of standard deviation 1s 3 and that of anthmetic mean is 9 then find
the value of coefficient of variation :

(A) 0.33%

(B) 33.33%

(©) 3.33%

(p) 0.03%

ofg AFe fFee 1919 3 £ ud Seiieia a1 &1 9 & @ &= quis &1 919 7d S1
(A) 0.33%

(B) 33.33%

(c) 3.33%

(D) 0.03%

Answer Given by Candidate : D

Sl. No.53
QBID:14247528




: : it b :
For an economy. the marginal propensity to consume 1s i and the marginal tax

g T
rateis o . the value of multiplier 1s

(A) 3

Bi
®

1

c -
©) 3

(D) 12
U srfogaeyr § 3usiT o dimid wafa % g R dHid R BT R é gl
S50 &1 HH o1 g2

(A) 3

Bi
®

o &
(©) 3
(D) 12

Answer Given by Candidate : B

Sl. No.54
QBID:14247529

In which year was the Kisan Credit Card started?
(A) 1995

(B) 199§

(c) 1994

(p) 2000

fpa wise &1e w ad # uRe gam

(A) 1995
(B) 1998
(c) 1994
(p) 2000

Answer Given by Candidate : A

Sl. No.55
QBID:14247530

If one of the regression coefficients value is greater than 1. then the value of the
second regression coefficient must be -

(A) less than 1
(B) greater than 1
(c)




equal to 1
(D) equalto 0
g U& TEEH O &1 a[ 1 § i §, o g WA uie &1 714 G-
(A) 19 A
() 1 3=
(C) 1% U=
(D) 0% =

Answer Given by Candidate : B

Sl. No.56
QBID:14247531

On the imposition of a tariff, the welfare of a country mmproves
(A) irespective of any other factor

When the dead weight loss due to production and consumption distribution is

(B) greater than terms of trade gain

When the terms of trade gains is greater than the losses due to production and

© consumption distribution

(D) under no circumstances

5l g & SR 9T, 3 & Heunn § YUR S § -

(A) TFE M smERe waE er fEa |

(B) & $5d¢ (GAHR) &7 IceT AR I9UF Fawo @R @y &1 wal § ofie g gl
(C) & TR Y S B IcdieT ayl IuUF fFaww & &ro g ardt e ¥ «fds gt 21
(p) fast off ofvfufey & =80

Answer Given by Candidate : C

Sl. No.57
QBID:14247532

In a symmetrical distribution the value of coefficient of Skevwness is
(a) 1

(B) —1

(© 0

(D) 3

TS GHING ScA | [quHdaT Ui $1 HE 21 5

() *1

(8) -1

(© 0

(D) 3

Answer Given by Candidate : A

Sl. No.58
QBID:14247533




Rural landless employment guarantee program was launched in the year

(A) 1980
(B) 1982
(c) 1983
(D) 1985
fome o & anfior yfd= demR TR e ang S e
(A) 1980
(B) 1982
(c) 1983
(D) 1985

Answer Given by Candidate : C

Sl. No.59
QBID:14247534

Consumption : C =100+ 0.84
2I=350

The output produced by the economy is 800. The level of unplanned inventories 13
(A) 100

(B) 10

(c) —-10

(p) 150

SUHFT :C =100 + 0.84
I=50

a3 3fodaRIl GRI 3@ ST3TYE T HH 800 & dl [441 TG & dUR Bl T
i T TR 1 g1 2

(A) 100

(B) 10

(c) —10

(D) 150

Answer Given by Candidate : B

Sl. No.60
QBID:14247535




Match List I with List IT :

LISTI LISTII
Investment

A | Malnpiics L |REXdm

B Emplovment m Milton

" | Multiplier " |Friedman
Restatement of

¢ [heguntty | | 7o
theory of
money

oW il B | 6 6
ECONOomICS g

Choose the correct answer from the options given below :
(A) A-IV. B-1, C-II. D-IIT
(8) A-IL B-II, C-III, D-IV
(¢) A-IV.B-II. C-III D-I

(p) A-IL, B-IV, C-III, D-I

i 1S 1Y Gid 11 &1 e Bifsu |

g1 T I
3R TH
A |faFEmque | L Vel
B ReRU@ | I |fHeed heid
freed<
C. |3l g @wIfedl| 1L [T TH
TR I 7
@Ts 9158 :
D. |Sof IV |9, 77 &
14 fGU U fadhedl &  To! 3R ol 991 DIfU :

(A) A-IV, B-1, C-II, D-III
(8) A-I, B-II, C-III, D-IV
(c) A-IV, B-II. C-III D-I

(p) A-IIL. B-IV, C-III. D-I

Answer Given by Candidate : C

Sl. No.61
QBID:14247536




Match List I with List IT :

LISTI LISTII
A VanssCaelot i Paul Rozenstein Rodan
poverty

Development with

B. |unlimited supplies of II. | Gunnar Myrdal
Labour

¢, [Cotealmmmonmelert | Gy IGrikeadied s
thesis

D. |Asian Drama IV. |Ragnar Nurkse

Choose the correct answer from the options given below :
() A-IV. B-II. C-I. D-III
(8) A-IL, B-III, C-I, D-IV
(c) A-IL B-IL, C-III, D-IV
(p) A-IV. B-III, C-I, D-II

T 1 1y G 11 & e Sifsu|
1 T 11
NG ; gl I-acH

G ECIEED S
Heigl Bl
B | yda| o [eRAmsa
1Yy fdery
" wifdd gAdd - S&cg AR
- | v dedHn NEGE
D. [° T V. [R5
i fau U faedi O 9 98l 3tk &1 99 DIfelu -

(A) A-IV, B-II. C-I, D-III
(8) A-II. B-III. C-I, D-IV
(c) A-IL B-II, C-III, D-IV
(p) A-IV. B-III, C-I. D-II

Answer Given by Candidate : C

Sl. No.62
QBID:14247537

Under which Sustamable Development Goal, energy is included?

(A) SDG 5
(B) SDG 7




(©) SDG9
(p) SDG 13

Tad fGem & 9 v Saiaila Fuie! 2N far @ &
(A) SDG 5
(B) SDG 7
(c) SDG 9
(p) SDG 13

Answer Given by Candidate : C

Sl. No.63
QBID:14247538

What has been the growth rate of the world economy in 20217
(A) 2.6%

(B) 3.9%

(©) 4.8%

(D) 6.1%

2021 # fay srfogaen 91 e ) a9

(A) 2.6%

(B) 3.9%

(c) 4.8%

(D) 6.1%

Answer Given by Candidate : A

Sl. No.64
QBID:14247539

Match List I with List IT :

LISTI LISTII

A |Canon of Taxation | 1. |Alfred Marshall
Infant industry y

B. Rt II. |Musgrave

¢, [Pitterenmial L e ik
Incidence

D. |ty ol 1y | A dam Smith
demand

Choose the correct answer from the options given below :
(A) A-IV, B-I. C-III. D-II
(8) A-IIIL B-IV, C-I, D-II
(c) A-IV, B-IIIL. C-II. D-I
(p) A-IL B-III, C-I. D-IV




B. ﬁamﬂE d 3 I [a99g
fade®
@ 1. [Thsd® e

D ([AmEidE | IV [vsa gy
i <Iu U o edi § ¥ ol 3R &1 99 Bifeld ;

(A) A-IV. B-1, C-III, D-II
(8) A-IL B-IV, C-1, D-II
(c) A-IV. B-III. C-II, D-1
(o) A-IL B-III C-I. D-IV

Answer Given by Candidate : C

Sl. No.65
QBID:14247540

Ramesh and Suresh constructed their new house in this year In the national
mcome accounting this transaction is considered as

(A) Inventory investment
(B) Fixed Investment
(¢) Consumption on durable goods

(p) Consumption on semi-durable goods

THET 3 G F B & H U1 T O §9E | P S0 S ¥ 59 99eiae &
HHE1 T

(A) =1 FHEm

(B) =g Fam

(c) Tewra g &1 3gHm
() -FewTd aegafl &1 S

Answer Given by Candidate : C

Sl. No.66
QBID:14247541




Given below are two statements :

Statement I : Narasimhan Committee recommended reduction of SLR (Statutory
Liqudity Ratio) and CRR (Cash Reserve Ratio).

Statement II : Narasimhan Committee recommended that directed credit
programme should be promoted.

In the light of the above statements, choose the correct answer from the options
given below:

(A) Both Statement I and Statement IT are true

(B) Both Statement I and Statement IT are false

(€) Statement I is true but Statement IT 1s false

(D) Statement I is false but Statement II 1s true

#1231 #uH QU M0 B U o HBYT (Assertion A) F ¥ H fafEd 8 &1 g 39S BRU
(Reason R) # &0 H,

i@y A; TRITT $HE 3 T4, U0, 3R, (@9He axadl S SR 91 3R, 3R, ([(&e
TR ST $I GEH B W $ o

HRO R; R HHE B i & AJ9R 919 SAHH S 9gal (a1 A
IIE FYA F e H, A G 1 et § @ 999 9uge TR &1 904 Fifeg)
(A) A R R I 981§ SRR, A #1 96 s §

(B) A AR T E IR, A #1 v oyrem 7

(©) ATHEaFTR T8 AE 2

(D) A §El 76l & Af A R W8l @

Answer Given by Candidate : A

Sl. No.67
QBID:14247542

Given below are two statements :

Statement I : Zamindari system was introduced by Lord Cornwallis.

Statement II : Under Zamindari system village land were held jointly by
communities.

In the light of the above statements. choose the correct answer from the options
given below:

(A) Both Statement I and Statement IT are true
(B) Both Statement I and Statement IT are false
(€) Statement I i1s true but Statement II 1s false

(D) Statement I i1s false but Statement II 1s true

#i g1 HuF faU 7Y B, UF SfiFuT (Assertion A) F w0 H i § @1 gE I96 SR
(Reason R) & ¥4 H,

HMHUT A: TS SHATe™ 5 oG Wl &1 TR fa)

HRU R: FHIGR] 991 F 3 d 998 & g 91 $1 964 $I §gad 49 § @1 S
IUIE HYA & fEre |, A" fau u fawei § 9 999 9uged TR &1 90 Fifel

(A) ASRRIETTEE MR R, A T8 =T &




(B) A JRREH 981 % iR R, A & 98 o T8 &

(C) A 8¢ afe- R ¥8l & &
(D) AGNEI i afdA R udl

Answer Given by Candidate : C

Sl. No.68
QBID:14247543

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R :

Assertion A : There is automatic change m the net tax revenue when level of
output changes.

Reason R : Automatic stabilization moderate aggregate spending in times of
boom and slow down.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both A and R are correct and R is the correct explanation of A
(8) Both A and R are correct but R is NOT the correct explanation of A

(€) A is correct but R i1s not correct

(D) A is not correct but R is correct

# 21 Fu iy Y B, UF SfiHUT (Assertion A) F w9 # & § O g suE RO
(Reason R) & =0 H,

HMHUT A: 9 SdTed A1A1 § S50 Gl & a9 Had &Y 319 H W@a: ggad ol ¢
SR R: WIa RMUE SRS ol SR Je] § 979 00 S 9Naied $d ¢

SRIad HYF & AIS 8, -d 1Y MU Geedl § 9 9a9 S9gad SR &1 994 SItug|

(A) A SRR HI 981 8 SRR, A 1 981 aorem
(B) A SRR gHiwdl § 3k R, A 1 wdl oyrem 78 8
() AwEEaAfETR T 2

(D) A W&l 7%l g Wfe R W8l &

Answer Given by Candidate : A

Sl. No.69
QBID:14247544

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R :

Assertion A : India's public sector helped in the development of a sound
mdustrial base.

Reason R : Public sector is under state control. The role of state in formulating
appropriate policies and providing financial and other support has helped the
public sector.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both A and R are correct and R is the correct explanation of A
(8) Both A and R are correct but R is NOT the correct explanation of A
(9]




A 15 correct but R is not correct

(D) A is not correct but R is correct

# 21 Fu iy Y B, UF SfiHUT (Assertion A) F w9 # & § O g suE RO
(Reason R) & =0 ¥,

HfHYT A; HRA & 9du-® &9 3 W A ouR & e § wgam fa

HRU R; Gaa-& & Ted & Ha-aomei= g1 FHHa -ifd R &9 R &g aur s
TEarT 34 H U0 B YieT € Sduiae 84 & 9gd Hag el B

S YA F A H, A U U fowedi # 9 999 Iugad IR F1 =989 S|

(A) A 3R R EH 91 € SR R, A #1 w¢ oyrEan @
(B) A IR R EHi ol € iR R, A & ¥e! owrem &1 §
() ATdizafea R a2

(D) A W&l 7%l g Wfe R W8l &

Answer Given by Candidate : B

Sl. No.70
QBID:14247545

Given below are two statements : one 1s labelled as Assertion A and the other is
labelled as Reason R :

Assertion A : Theory of social goods provides rationale for the allocation
tunctions of the budgetary policy.

Reason R : There are certain goods which are non-rival and these are immportant
for maximizing social advantage.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both A and R are correct and R is the correct explanation of A
(8) Both A and R are correct but R is NOT the correct explanation of A

(€) A is correct but R 1s not correct

(D) A is not correct but R is correct

#1a &1 HyF fau 70 B, TF SfHFUT (Assertion A) F w0 H i@ § O g 396 IR
(Reason R) & ¥4 H,

HfimyT A IEeE o5l & faara sueg Hify & oded &1 & dssie s=m 2|
®RU R: T FiEd a8l § o IR Wiog<l SR SHlve o1H &I i&Had & § Ae@dl o
IUIE HYA & e |, A" fEu mu fwei § 9 999 9uged IR &1 90 Fife)

(A) A SRR HI 98 8 SRR, A 1 981 aorem
(B) A FRREH T & AR R, A #1 w8 oyrem 7
() ATE2afFTREATE R

(D) A W&l 78l & Wi R W8l &

Answer Given by Candidate : A

Sl. No.71
QBID:14247546




Country A requires 2 units of labour to produce a unit of X and 5 units to
produce a unit of Y: where as country B require, 3 units of labour to produce a
unit of X and 6 units to produce a unit of Y

(A) A has absolute advantage in the production of good X as well as Y
(8) B has absolute advantage in the production of both good X and Y

Though A has an absolute advantage m the production of both goods. it has a
comparative advantage in the production of Y

Though B has an absolute advantage i the production of both goods, X and Y it
has comparative advantage in the production of X

WA B X O ! UF 5515 & o0d B & [0 2 $HI5 Hugdl & aedd g5l g 3R Y
T B UF 515 B 309 I & O 5 5H15 S, o8ie of B B X 9% &1 & 501 S
SWd B & [ 3 515 Augd &I AR Y O] 31 U 515 & 30 & & [0 6 5915
Aogel & oetd 9eal & |

(A) AT UE X F Y AN Y T B S0 S H e @ gl
(B) B & UM X iR Y & Tl & Sodd & A FRUS MH§

Tl & A & UTE SHT 93 &1 30F &4 8 0y @Y § 596 U Y O] & Sud &
©) % oe qEEE a2

Tgfu B &1 X a5 3R Y 9% aHl &1 90d &3 | ey 1Y §, 596 U9 X a5 &1 odd
®) 3 % 1F qoEs T )

Answer Given by Candidate : B

(D)

Sl. No.72
QBID:14247547

According to the Pareto Criterion, a movement from state A to state B is
desirable :

if all agents are at least as well off in B as they were in A and at least one of

) them is better off.

(8) if all agents are at least as well off m B as they were in A and no one is better
off.

if the agent with lower welfare are found to improve their welfare m B m
(C) comparison to A even when those with higher level of welfare n A are found to
witness decline in welfare.

(p) if m B all the agents are having lower difference in their level of utilities

UREI 3edl (Ue] PIEcRY) & SUR o A ¥ 34 B H 90 4 aie-1g ©
. IR gt tole Tog B § &H I &H Id- of U1 § foldd d Isg A H ¥ 3R 38
A Jvr I I FT R SR |

. IRV o T B HFH I FH I 6l Y41 & fora- dTsg A H 9 3R 38
® I AT |

©)




i (9 e ard Toic A B a1 4 B § 3{U- $edvl & wR H YR PR Ud
g.wﬁmﬁﬁwaﬁwmﬁq@?ﬁ & il Pedul § HH Heqy DR <6
|
(o) Af¢ BT Gl Uil & IUUM & &I 0 Y SR §

Answer Given by Candidate : D

Sl. No.73
QBID:14247548

Match List I with List IT :

LISTI LISTII
A |Industrial District [I. |H. Dalton
B. |Kinked Demand Curve II. |A. Marshall
03 f;;?;‘;ﬁii:‘;m“m 1. [Paul M. Sweezy
D. |Law of invisible hand IV. |Adam Smith

Choose the correct answer from the options given below :
(a) A-IL B-III. C-L. D-IV
(8) A-IIL B-II. C-L. D-IV
(¢) A-IV.B-L. C-II. D-III
(p) A-L B-IV. C-III. D-IT

Y 1S 1y Gl 11 & e Sifsu|
1 e 11
A |3AEfE foem L |uE Sl
B. |[Adpfd#inas L | AR
St e oy o
C. | R 1. |gici o, Wil
D. |¥=3g e ol figid V. |[TeHfHY

i f4u U faeedi O 9 981 SR &1 99 Sifor|
(A) A-IL B-III, C-I, D-IV
(8) A-IIL B-II, C-1, D-IV
(¢) A-IV.B-I, C-II D-III
(0) A-I B-IV, C-III, D-II

Answer Given by Candidate : A

Sl. No.74
QBID:14247549




Match List I with List IT :

LISTI LISTII
A |Inventory Theoretic Approach I |J. M. Keynes
Liquidity Preference as a i
i behaviour towards risk T B Bevin]
¢ | Momey s banporyabade of e lgppesm gy

purchasing power

A discontinuous individual
D. |speculative demand for money  |IV. |James Tobin
function

Choose the correct answer from the options given below :
(a) A-L B-II., C-IV, D-III
(8) A-IV. B-IIIL, C-II. D-I
(c) A-IL B-III C-II, D-IV
(p) A-IV. B-II. C-II. D-I

Y 1S 1y Gl 11 & e Sifsu|

T 1 T 11

A [ROliwRftpw™ | I [O A 3

T aa &1 JiaH

e 1L [Seg, of. 9

C. Egﬁﬁmﬁ% I |fee wieim

D. % V. [oeg Sifeq

f20r= BR 04 GhH

- fU T fawedt & ¥ Wel SR &1 90 SIfo
(A) A-L, B-II, C-IV, D-III
(8) A-IV, B-IIL, C-II, DI
(¢) A-L B-IL C-II. D-IV
(0) A-IV, B-II, C-III, DI

Answer Given by Candidate : C

Sl. No.75
QBID:14247550




Match List I with List IT :

LISTI LISTII
A |Monopolies Inquiry Commission I. |2016
Monopolies and Restrictive Trade -
B. |Dractices Act (MRTP Act) ||
C. |The Competition Act I 11970
D The Insolvency and Bankruptey v |om
code

Choose the correct answer from the options given below :
(A) A-L B-IIL C-III. D-IV
(8) A-IL B-III. C-IV. D-I
(c) A-IL B-IV. C-III. D-I
(p) A-IV.B-IIL C-II. D-I

e 1 % 91y gl 11 &1 e Sifou
T 1 T 11

A |THIYHR THag:] HHIEH I |2016

B. 59 ﬁaai Iwmﬁ Wﬁ I |1965
c. |ufceas sifgfas . |1970

D. |[SAuCa-difednedd ) ®is | IV. |2002
=i fau e faodt & 9 98t SR &1 959 DI :

(A) A-IL B-II, C-III, D-IV
(8) A-II. B-III. C-IV, D-I
(c) A-II. B-IV, C-III., D-I
(p) A-IV, B-III, C-II. D-I

Answer Given by Candidate : B

Sl. No.76
QBID:14247551

Given below are two statements : one is labelled as Assertion A and the other 1s

labelled as Reason R :
Assertion A : Green Revolution benefited only Punjab, Haryana and Western

Uttar Pradesh.

Reason R : Irrigation was necessary for the success of green revolution.

In the light of the above statements. choose the most appropriate answer from
the options given below :

(A) Both A and R are correct and R is the correct explanation of A




(B) Both A and R are correct but R is NOT the correct explanation of A

(€) A is correct but R 15 not correct

(D) A is not correct but R is correct

# 21 Fu iy Y B, UF SfiHUT (Assertion A) F w9 # & § O g suE RO
(Reason R) & &0 H, .

i@y A: shd ®ifa 3 Sa dus, gRamm a1 gid 3% UeR &1 81 Oy Ugardl|
SR R; TR #ifd & 9haal & fou RiEg mews @

IUIE HYA & e H, A" fEu u fawei § 9 999 9uged TR &1 90 Fifal

(A) A SRR HI 981 8 SRR, A 1 981 aorem
(B) A SRR SHiwdl & 3k R, A 1 wdl oyrem 78 8
() AwEEaAfETR T A2

(D) A W&l 8l g Wfe R W8l &

Answer Given by Candidate : A

Sl. No.77
QBID:14247552

Match List I with List IT :

LISTI LISTII
Principle of Absolute y sctulgll
A Advansiae I |Evbczynski

Effects of factor endowment ;
B. II. |Samuelson
charges on trade

C. |Theory of reciprocal demand [II1. |Adam Smith

Factor price equalization
theorem

D. IV, |J. 5. Ml

Choose the correct answer from the options given below :
(A) A-III B-II. C-IV. D-I
(B) A-IV. B-II. C-I. D-III
(c) A-IIL B-I. C-IV. D-II
(p) A-IIL B-IV. C-II. D-I




el 1 F1Y Gl 11 T fHeH Sifsg |

AT

g

A |FRUgTHSIESHN | L REaws!
YR T IdeA

B. |UdSlgdcuRaddidl | IL [§HcEd
PG

c. |[oRERmamfig | m |[tsafEy
JAIG PR DHIHd !

D. ¥ V. |9 o9 faa

2 Ry T Rt & & 9 SR 7 99 IR

(A) A-IIL B-II. C-IV. D-I
(8) A-IV. B-1I. C-I. D-III
(c) A-IL B-1. C-IV, D-II
(p) A-IIL B-IV. C-II. D-I

Answer Given by Candidate : A

Sl. No.78
QBID:14247553

Match List I with List IT :

LISTI LIST II
A |Wealth of Nations [ |David Ricardo
B. |Treatise on Money II. |Jagdish Bhagwati
C. |In defence of globalization II1. |Adam Smith
e

Choose the correct answer from the options given below :

(a) A-II B-IV, C-II. D-I
(8) A-IL, B-II, C-III, D-IV
(c) A-IV, B-III, C-II. D-I
(p) A-IL B-I. C-IV. D-III




el 1 F1Y Gl 11 T fHeH Sifsg |

e 1 T 1
A |3 3E HIY 1 |3fas el
B. [dId 39 w1 1L [STTRr et
ERAEE
& P RIS . |(usH &y
D. VN e IV. 9. TH &g
=14 f4U U faedl O 9 98l TR &1 99 DIfolu -

(a) A-II B-IV, C-II. D-I
(8) A-IL, B-II, C-III, D-IV
(c) A-IV, B-III, C-II. D-I
(p) A-IL B-I. C-IV. D-III

Answer Given by Candidate : A

Sl. No.79
QBID:14247554

Match List I with List IT :

LISTI LISTII
& Permanent Income 1 John Maynard
" |Hypothesis " |Kevnes
B Inter-temporal consumption TR | T T
models 7

C. |Eelative Income Hypothesis |11 |Iving Fisher

jji [ Pouteslocame i | Miifion Fitedian
Hvpothesis

Choose the correct answer from the options given below :
(A) A-II, B-IV, C-II, D-I
(8) A-L B-IL. C-IV. D-III
(c) A-IV, B-III, C-II, D-I
(p) A-II B-I., C-III, D-IV




el 1 F1Y Gl 11 T fHeH Sifsg |

AT g I
A, [l g uReeaT L [JFETE &g

iR BIfcid FTH
e 1L |fEgeH a8

C. |MufgdemauReer | ML [3ETfEER
D. |FRugsmuReeaa | 1v. |fee theed

=t fau U fawedl © 9 98! SR &1 999 DIl -
(a) A-IIL B-II, C-II, D-I

(8) A-L B-II C-IV, D-III

(¢y A-IV, B-IIL, C-II, D-I

(p) A-IL B-I, C-IIL, D-IV

Answer Given by Candidate : D

Sl. No.80
QBID:14247555

Given below are two statements :

Statement I : If rows and columns are interchanged and columns into rows the
value of the determinant remains unaltered but the sign changed.

Statement II : When two rows or columns are nterchanged the numerical value
of the determimant changes but the sign of the determmant remains unchanged.
In the light of the above statements. choose the most appropriate answer from
the options given below:

(A) Both Statement I and Statement IT are correct

(B) Both Statement I and Statement II are mcorrect

(C) Statement I is correct but Statement IT is incorrect

(D) Statement I 1s incorrect but Statement II is correct

5 € By few Mo B

wuF [ : 7 Ue 9RE &1 dfeaal & weif # agur o sk sl & 9Eaal § sear o a
IRItE &1 A1 Tl Seadl & W 9 9¢d uidl gl

%Y 11 : 919 & ¥l (adjacent) Uiaaal a1 w6 WRil ST 3109 § Sgo o1l § df SRS
& T A 98¢ oidT & W 9RiUE &1 & uftafad T8 s &

IWRIed HUH & s H, A9 feu U el # 9 98l 9w &1 994 Sifen

(A) @Y= ] S 11 SHf 9 &

(B) YA I X II <Hf /@a &

() FY ] 9@ &, Wi SYA ] 39 &

(P) Ty WA AT HUA [ T &




Answer Given by Candidate : D

Sl. No.81
QBID:14247556

Given below are two statements :

Statement I : The statistical constant of the population are known as parameters.
Statement II : The square root of the standard deviation of the sampling
distribution of a statistic 1s known as the standard error.

In the light of the above statements. choose the most appropriate answer from
the options given below:

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement I are incorrect

(C) Statement I is correct but Statement II is incorrect

(D) Statement I 1s incorrect but Statement II is correct

H1 §1 Fy= R T R

A [ 999 & S fRRIE $1 999 (Parameter) $5d ©

&y [1 : gifegs! & Uliga- [Gowul & AFe (G900 & o & #9196 I &8 8|
SURIFd B & iid H, i feu U fasedi | | 981 3T &1 994 S|

(A) FYFI AR eH 9d &
(B) ®UAI R II Ml eE &
() A1 9d e Wi YA I[ 39 &
(D) T 3T T eI U [ T 7

Answer Given by Candidate : D

Sl. No.82
QBID:14247557

Given below are two statements :
Statement I : Monopolistic competition involves many sellers of homogencous
products.

Statement II : The oligopoly involves some producers of standardized or
differentiated products.

In the light of the above statements. choose the correct answer from the options
given below:

(A) Both Statement I and Statement IT are true

(B) Both Statement I and Statement IT are false

(C) Statement I is true but Statement II is false

(D) Statement I i1s false but Statement II 1s true
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Answer Given by Candidate : D
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Given below are two statements :

Statement I : An Adverse supply shock reduces the marginal productivity of
labor.

Statement I : Output in the short run is a function of the equilibriumn condition in
the labor market.

In the light of the above statements, choose the correct answer from the options
given below:

(A) Both Statement I and Statement IT are true
(B) Both Statement I and Statement IT are false
(C) Statement I is true but Statement I is false

(D) Statement I is false but Statement II 1s true
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Answer Given by Candidate : C
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Given below are two statements :

Statement [ : A rise in the rate of inflation means that the percentage rise in average
prices 1s higher than the previous one.

Statement II : The Phillips curve suggests that a fall in unemployment is likely to
lead to lower rates of wage and price inflation.

In the light of the above statements, choose the most appropriate answer from the
options given below:

(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I 1s correct but Statement I is incorrect

(D) Statement I 1s incorrect but Statement II is correct
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Given below are two statements :

Statement I : The number of exchange possibilities that exist in a money
economy exceeds the number in a barter economy.

Statement I : An increase in the length of time for which money is held will
reduce the velocity at which money circulates in the economy.

In the light of the above statements, choose the most appropriate answer from
the options given below:

(A) Both Statement I and Statement IT are correct
(B) Both Statement I and Statement II are mcorrect
(C) Statement I is correct but Statement IT 15 mcorrect

(D) Statement I is incorrect but Statement IT 15 correct
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Given below are two statements :

Statement [ : The main features of the Industrial Policy - 1991 includes abolition of
industrial licensing. diminishing role of public sectors, MRTP limit scraped.
conditions on entry of foreign investment and technology liberalized and so on.
Statement II : First Industrial Policy Resolution was i1ssued in 1951,

In the light of the above statements. choose the most appropriate answer from the
options given below:

(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I 1s correct but Statement I is incorrect

(D) Statement I 1s incorrect but Statement II 1s correct
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Match List I with List IT :

LISTI LIST I

National Fural Employment .

£ Programme (NREP) k200
Sukanva Samridhi Yojana IT. | 1980
Food for work programime

C. FWP) II1.|1983
Rural Landless Emplovment

D. |Guarantes Programime IV |2015
(RLEGP)

Choose the correct answer from the options given below :
(A) A-IV, B-III, C-II, D-I
(8) A-I, B-IIL, C-IV, D-III
(c) A-II B-IV, C-I, D-III
(p) A-III, B-II, C-IV, D-I
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(A) A-IV, B-IIL, C-IL, D-I
(8) A-L B-II, C-IV, D-III
(c) A-IL B-IV, C-I, D-III
(0) A-IIL, B-IL, C-IV, D-I
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Who propounded the "Jail Cost of Living Method" for determining the poverty
line?

(A) Prem Krishna Murti

(8) Dadabhai Naroji

(¢) Tendulkar Samiti

(p) Amartya Sen
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Consider the following statements regarding arguments for free trade :

A. Free trade leads to maximization of output, income and employment.
B. Free trade prevents monopoly.
C. Free trade protects domestic industries.
D. Free trade favors the monopoly.
Choose the correct answer from the options given below :
(A) A and C only
(8) A and B only
(c) Cand D only
(p) B and D only
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Answer Given by Candidate : A
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The core principle of multilateral trading system is :

A. Non-discrimmation
B. Reciprocity
C. Protectionism
D. Domestic safeguard
Choose the correct answer from the options given below :
(A) A.B and D only
(8) B and C only
(c) B.C and D only

(p) A and B only
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Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R :

Assertion A : India has a big potential demographic dividend.

Reason R : India's population growth rate is declining.

In the light of the above statements. choose the most appropriate answer from
the options given below :

(A) Both A and R are correct and R 1s the correct explanation of A
(8) Both A and R are correct but R is NOT the correct explanation of A

(€) A is correct but R is not correct

(D) A is not correct but R is correct
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Given below are two statements :

Statement I : A common resource 1s rival and non-excludable.

Statement II : A public good 1s non-rival and non-excludable.

In the light of the above statements. choose the most appropriate answer from the
options given below:

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I 1s correct but Statement I is incorrect

(D) Statement I is incorrect but Statement II 1s correct
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Fiscal policy relates to the Government decision i respect of -

A. Taxation
B. Government spending
C. Government borrowing
D. Repo rate
Choose the most appropriate answer from the options given below :
(A) B and D only
(8) A.B and C only
(c) A and D only

(0) C and D only
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The followimng data of an economy is given
C =1000+0.84
I1=500

The equilibrium level of output is

(A) 15000
(B) 1500
(c) 7500
(p) 8000

U srforamn &1 2 m sffwe g g B
C=1000+ 0.84
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(A) 15000
(B) 1500
(c) 7500

(p) 8000
Answer Given by Candidate : B
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The first dertvative of x* is

(A) x log x




(B) x y1

(c) x*(1-log x)

(p) x* (1+log x)
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(A) xlogx

(B) xx*1

(©) x* (1-og x)

(0) x* (1+logx)
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The expected value of x for the probability distribution function of the random
variable given below is

% %)
3 025
6 0.50

9 0.25

(A) 3.25

(B) 9.5

(c) 6

(p) 12
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(A) 3.25
(B) 9.5
(©) 6
(p) 12
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A standard normal distribution refers to a random wvariable that has a




(A) Mean of 1 and standard deviation of 0
(B) Standard deviation of 1 and mean of 0
(€) Mean of 0 and standard deviation of 0
(D) Mean of 1 and standard dewviation of 1
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FRBM Act, 2012 puts a ceiling to fiscal deficit of GDP at
(A) 6%

(B) 5%

(c) 4%

(D) 3%
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(A) 6%

(B) 5%

(c) 4%

(D) 3%
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The locus of combination of output mterest rate where the assets market 1s in
equilibrium, is

(A) IS curve

(B8) LM curve

(¢) BP curve

(D) none of the above
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Starting from the earliest arrange the following in chronological order -

A. Global Financial Crisis

B. East Asian Cries

C. Great Depression

D. Gold Standard Mechanism

Choose the correct answer from the options given below :
(a) C.D.A.B

) A.B.D.C

(c) C.D.B. A

m) D.C.B. A
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(a) C.D.A.B
) A.B.D.C

c) C.D.B. A
(o) D.C.B. A

Answer Given by Candidate : A




